F£

Solving Quadratic Equations with Square Roots (no x-term)

Exact Answers versus Rounded Answers: Consider the solution x = +Ja +
o fec
/5?2615_5 :
1. ifais a perfect square, take the square root and the solution is an exact integer. [
2. If ais not a perfect square, leave in simplified radical form and the solution is exact. t{?
3. ifais not a perfect square, take the square root and the solution is a rounded answer. I
Ay
Pay attention to whether you are supposed to give exact answers {either integers or simplified qq
radical form} or rounded answers. 6‘—"
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Examples: Soive and give both the exact answer and the rounded answer.

1. x% =49 2. x2 = -121 100
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12.

A cell phone tower has a guy-wire for support as
shown. The height of the tower and the distance from
the tower to where the guy-wire is secured on the
ground are the same distance. What is the height of
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13. Solve for x.
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14. Solve for x.
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